Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2018

Subject Name : Electrical Wiring, Estimating and Costing
Subject Code : 2TEOSEWC1 Branch: Diploma (Electrical)
Semester : 5 Date : 28/11/2018 Time :10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) As per ISIthe maximum load that can be connected in one sub circuit is 1
A. 800w
B. 1000 w
C. 1600 w
D. 500w
b) Lamps in street light are connected in 1
A. Series
B. Parallel
C. Series-parallel
D. None
c) Earth wires are made of 1
A. Copper
B. Aluminum
C.lIron
D. Galvanized steel
d) Fuses are always connected in 1
A. Neutral
B. Phase
C. Earth
D. None
e) Energy meter, for connection has ----- terminals. 1
A.2
B.3
C.4
D.5
f) Which method is use to laying of Cable? 1
A. direct Laying
B. Duct Laying
C. Solid Laying
D. All of the above

Pagel || 7



9)

h)

)

K)

1HP= Watt
A. 710.10 Watt
B. 515.50 Watt
C. 205.5 Watt
D. 735.5 Watt
ASCR means
A. Alluminium Conductor Steel rainforced
B. Alluminium Copper Stone Rainforced
C.BothA&B
p. None of the above
In Electrical Wiring, Length on Wire =
A. 3* Conduit Length
B. 2* Neutral Wire
C. 4* Conduit Length
D. 1* Conduit Length
Cheapest system of internal wiring is
A. Cleat wiring
B. Casing capping wiring
C. Batten wiring
D. Conduit wiring
Standard domestic AC supply voltage in India is
A. 220V
B. 230V
C. 240V
D. None
should be provided as the working space around the main switchboard
according to IE rule 51.
A.0.914 m
B.0.523 m
C.0.638m
D.0.814m
What is the maximum distance between the two successive cleats?
A. 0.25m
B. 0.6m
C. 0.9m
D. 1.25m
Value of Earth Resistance in Substation =
A. 20hm
B. 0.50hm
C. 10hm
D. 50hm

Attempt any four questions from Q-2 to Q-8

Q-2
A
B

Attempt all questions
What is total cost? List and explain types of it.

Explain purchase procedure with its types in detail.

Attempt all questions
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Q-5

Q-6

Q-7

o >

o >

Surface conduit wiring is installed in new wing prepared in new engineering
collage building. Wiring installation is installed for following electric load. ]
Calculate: (1) Total load point
(2) Total load
(3) No. of total sub circuit
Details of electric load:
1. 48 Light point
2. 12 fan point
3. 12 three pin socket 5A
4. 4 Water tight light fitting
5. 4 three pin socket 15A
Classify and explain different types of accessories used in wiring.

Attempt all questions
Define Service main and compare different types of service main.
Write steps for estimation of materials required for domestic wiring

Attempt all questions

An overhead service connection is to be provided to a single store building at single
phase 240V, 50Hz. Its maximum load is 10A. The supply is to be given from the
overhead 3 phase 4 wire distribution system which is 30m away from the building.
So prepare estimation and costing of required materials and draw wiring diagram
also.

In one workshop of size 40m*15m*4m, one 15hp, 400V three phase, 50Hz
induction motor is to be installed at 15 m away from supply board. So prepare
estimation and costing of required materials and draw wiring diagram also. Also
assume required data.

Attempt all questions
Explain different methods of procedure for providing service connections.

Give the comparison of different types of wiring.

Attempt all questions
Explain types of service connection.

Draw schematic diagram and connection diagram of godown wiring

Attempt all questions

Prepare Estimitation and costing of material required for underground distribution
line 40m long 440V, 3 phases to carry a 200W at 0.8 p.f. lag.

One pole needs to be erected to start erection of 11kv,3 phase,50 Hz overhead
service line. Draw only the figure of that pole with stay wire, stay plate and plate
earthing system.
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Q-1

b)

d)

f)

9)

Attempt the following questions:

ISI osol A5 Aol AFe HL 32l HEAH AS AL asLes

A. 800w
B. 1000 w
C. 1600 w
D. 500 w

®2 cAlfe oll QAU oll %slaL all 88 B

A. RRe

B. WRAlA

c. RRx» Wrauc

D. GUR Wl 88 oils

U AR Aol Kollall HL A B

A SR

B. wMollan

C. Auis

D. dccllollesey Xl
£ sl WSl HL A &

E. oJ2dd

Foo%

G. wd

H. GuR el 518 o3

A Hl2R saAsalet MR

A 2
B. 3
C. 4
D. 5

Fold Ysal MR 58 Ugldoll Guol e B2

E.SLARS CALBOL
F.S5C CGULEIL
G. AlAs csal

H. GURlS dxIH
1HP = Watt

BSL 8l B
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E. 710.10 Watt
F. 515.50 Watt
G. 205.5 Watt
H. 735.5 Watt

) AscR ol el B
A ARJAaM $5522 VA WVlASRS
B. ARAAAUH 5UR ot Wt 1S
C. A ¥al B oo
D. GURAsHil 8¢ olgl

) sAEese aruBFolu, azk U2 duld =
A. 3*$05Y2 GUlES
B. 2*d2 dlAR
C. 4* $05Y2 AullES
D.1* 505¢2 AuleS
D wdlRs aruBFototit Wl 0zl R oo )
E. scle atuRaL
F. 3RoL 3o araFat
G. Qe ataRaL
H. Slosye clalRol

K alrct 1l SRS A fl Al oll oSy s2c A% decll B

A. 220V
B. 230V
C. 240V

D. 58 algl
D1 Qam 51 vk Yuat RAUCAS vuauw Ul SIH A3 Y32

ulsq oAeul.

A. 0914 m
B. 0.523m
C. 0.638m
D. 0.814m

M) & uefoltHl setzd A HeTH R 9 B?

E.0.25m
F.0.6 m
G. 0.9m
H.1.25m
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) ordstHl uel Ao Ye - 1

A. 20hm
B. 0.5 Ohm
C. 1 0hm
D. 5 0hm

Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
A sct Wl 9 B2Aell UsR AHAAL /
wRlel ulsal Aot ystl W ([Qatdar uHestal. !

Q-3 Attempt all questions (14)

A As WAeollalol 5lA% (Aeslotetl stal daur AACA oMl URBU Slosye !
alauol sall ey B, Aul olA YyHdlell [Qrejdetr M2 ataulol
YUUel sHL wled B,

ALl 52 (1) ek Wdeo{l dvul
(2) 5 GUR
(3) 5 Aol USe
(AeycteuRoll (Qotdt: (1) 48 2yut clse
(2) 12 dwL
(3) 12l Ulot oL A3 5 A
(4) 4 Al awe cse $leloL

(5) 4 ol Ulot weoL A¥e 15 A

B QAL HIZ QURLAL DUSHRL AL Al QUL 2l HHAAL 7
Q-4 Attempt all questions (14)
A AT Aol ol cautvaul AW A Aot (AR Yol AW 7
B Ul alUFoL 12 %33 Ul el W UL AWl 7
Q-5 Attempt all questions (14)
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Q-6

Q-8

As UL oll Uslol ML 240V, 50 Hz, 10 A yclls ol 3URE cuey Aldx

olslel Hstet ol 30 Hl2R g2 Al 3 ¥, 4 claR [SRAGUt clgSat Hiell

wlUclle] 8, Al o33 Hiet UMt oll o2el Wal ol (BUA ol viewsl 5.

Aoll cltau3lot stAUH ENR.

WS 40m*15m*4m MU otl as3lU HL 15hp, 400V ARl 5% 50Hz ol WS
0L Hl2R YA sclell 8. e oll§ &l 15m of AR &, Aol
atA3loL st €13, %331 HIE ALl oll %2 WA YUl ofl (51t

oll WELX] 5. w3 ol dal Wil Al

Attempt all questions
AT sl auual 12 ylsa o QA ugld dHsA

(@l ystRetl ctu3lol ofl ARuHR(l A4

Attempt all questions
U SRl YslA AHesAl.

ANSIGel cllARololl WYNELs SIADUH U SalsUet SIARUH IR

Attempt all questions

A5 440V ol 252 UGS BRAGUA RRH ol dotleS 40m B, ual A 3
% 200kW, 0.8 pf lag  oll WaR dgel 52 8. dl d cletoll Uil HIS
%331 HIA UHLo ol w2 Mol ofl (SHA ol el 52

Q9 3.l 20l WARULUO 6242, A cRSS Ad[AYU AlESet oll 85t HIZ
s AMA P52 scloll B. d Al ofl e sl €131 aul =
alaAR, R A2 el (oL gdR ewdll gddl.
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